
 

​ ​​ ​Одузимање​ ​двоцифрених​ ​бројева​ ​без​ ​прелаза 
 
 
 
 
1.​ ​Израчунај: 
 
58​ ​-​ ​35​ ​=​ ​(58​ ​-​ ​30)​ ​-​ ​5​ ​=​ ​___​ ​-​ ​___​ ​=​ ​___ 
 
67​ ​-​ ​44​ ​=​ ​(68​ ​-​ ​40)​ ​-​ ​___​ ​=​ ​___​ ​-​ ​___​ ​=​ ​___ 
 
99​ ​-​ ​87​ ​=​ ​(99​ ​-​ ​___)​ ​-​ ​___​ ​=​ ​___​ ​-​ ​___​ ​=​ ​___ 
 
75​ ​-​ ​24​ ​=​ ​_____________________________________________ 
 
88​ ​-​ ​36​ ​=​ ​_____________________________________________ 
 
79​ ​-​ ​22​ ​=​ ​_____________________________________________ 
 
68​ ​-​ ​51​ ​=​ ​_____________________________________________ 
 
53​ ​-​ ​31​ ​=​ ​_____________________________________________ 
 
96​ ​-​ ​52​ ​=​ ​_____________________________________________ 
 
49​ ​-​ ​27​ ​=​ ​_____________________________________________ 
 
87​ ​-​ ​45​ ​=​ ​_____________________________________________ 
 
77​ ​-​ ​36​ ​=​ ​_____________________________________________ 
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77​ ​-​ ​36​ ​=​ ​_____________________________________________ 
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